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(MTPI 25) 1 DNV

£ NN NTIPI MIX»NN ,NND ORIV Point NPONNN NITHINN PON OND

class Point:
""" Represents a point (x, y) in the plane. """

def init (self, x=0, y=0):
self.x = x
self.y =y

def eqg (self, other):

return isinstance (other, Point) and \
self.x == other.x and self.y == other.y

PNINN NN NPINNN ,Point NPYNNN DY distance (self, other) NTINHNN NN OIWHN (PI 5) .N
.other NP self NTPIN P2
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MTINN YNV N2 NIDIN TYUN NN Y MINMNN ,NNI ORIV Line NPONNN NITHNN PON POND
:(intersect_y -) intersect_x) mvin

class Line:
""" Represents a straight line in the plane, using the equation
ax + by = c """
def init (self,a=0,b=0,c=0):
assert a!=0 or b!'=0
self.a=a
self.b=b

self.c=c

def eq (self,other):

assert isinstance (self,Line) and isinstance (other,Line)

return self.a*other.b == other.a*self.b and \
self.b*other.c == other.b*self.c and \
self.a*other.c == other.a*self.c

def is horizontal (self):

return self.a==

def is vertical (self):

return self.b==

# returns the point on the line self which has X value of x
def intersect x(self, x):

return Point(x, (self.c - self.a * x) / self.b)

# returns the point on the line self which has Y value of y
def intersect y(self, y):

return Point ((self.c - self.b * y) / self.a ,vy)
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DV distance(self, point, epsilon=10%**(-6)) NTINNN NN VNN DY (MNPI 15) .2
D01 YDVIVIN MNP NI ,point NTIPI self vWON P PNIND DX NPINHN ,Line NPYNNN

MTIPIN P NTIPIN P2 DOPNINN DD PN DN XIN D DTIPI P2 PNIND : NPVHNN NN
UM DY NINSDIY

NN AVND ¥ DXPNN TARD 52PN PN IO DX : NIITD

[RRAIPA] vony v ,DANN (Y 2IWIN) MIDIN Y9IN PNIND
- wI9'NN Ni72a

NI point NTIPIN P 1A PRINDNY MOV WD DY

SV y-M X-N OOV 295 AP VIdND MNI) IODIdNN

‘ IO DY MTIP) DNTD DIDY (TPNX INI) IO DY NTIPIN
se

point AxtBy=C  TIPIN P NP2 PRIDAY NTIPID WHNY TY 9 191N

(xy) .epsilon 1D Ty DN point NNMN
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2L DHYN MINMONN NN ORIV Cirele NPONNN NITHNN PON PND

class Circle:
""" Represents a circle with a center and a radius """
def init (self, center=pPoint(0,0), radius=0):
assert isinstance (center,Point) and isinstance (radius, (float,int))
assert radius >= 0
self.center = center

self.radius = radius

def area(self):

return math.pi*self.radius**2

isTangent (self, line, epsilon=10%**(-6)) NINX2N NTINHDN DX WHN (MTPI 5) )
NTIPI2 DMODN NRNWN D10 vIdNn DN .self Dwnd pwn ,line NNIN WD DND NPINNN
-N YOP DY WIANN AWUR DMODN OO MINY NN NN
DMV DN epsilon

NTIPI DHWNN OPTID IHNND HYND PPYn : MVHNHN NNINN

roan)
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(7793 40) 2 nHNY

DINT 19INA DINMN (Characters) oonn Hw (streams) D12 PIDY) 11 NHNYA
.RUN x9p3 o7 01N Hw 939

nx 99190 (tuple) o7y axvn RUN yaw viva nonT yan X0 Run Length Encoding (RLE)
NT DI IWUND HND MINT DY DITI7Y DOINN DY DITINOY 1) G872 YA XINY DINYIN 190N DX INN

IMpnn 01N Yv RLE -0 »x» 1o 07919 899y .RUN xomon

Ial, |a|’ Ial, Ial, Ibl, Ibl’ |a|’ |b|’ Ibl... ZDﬁtn :nna‘1
(a', 4) ('b", 2) ('a', 1) ('b', 2)... :non 077y RLE -2)8vn

3N [a al o ,ownd Mo N ININ HYHOLIRDIOPNN 98I0 Y TNIND NN 8”0 RUN Yow a5 v
290X RUN 0na pxw nnd qwan omorx ot dv napna.[(a 1) (a 1)] »» by xd((a 2)] »y

: MINAN NYXPNA NYND ARARA)
def make run (char, length):
return (char, length)

def run val (r)
return r[0]

def run len (r):
return r[1l]

DI NYIAPN W INPND .display_stream_head DV MPXPN9] MNDNTI DOVHNNYNI DN : N9YN
DNINKY ,D0IANX NP IX 1 YW ONX) DI DMNIYNIN DIDND 0 NIX NOOTNI n 1900 (PNDIN IN Y91D)
(DN MR DO NN

IN O9ID) DONN DY DIV VOPO NYapn WN ,RLE _encode mONpNON NN WHN (MTP) 10) X
29w RLE -1 »8» nX INNNY D310 IR NTNNI,09109N

$DNPNT
>>> w = RLE _encode (iter(['a','a','a','a','b','b','a','b','b']))

>>> display stream head(w, 4)
('a', 4) ('b', 2) ('a', 1) ('b', 2)
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def RLE encode(strm) :
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P9OYN N D) RLE 091 nYapnn remove _stream elem msp)on NN wnn (MTpy 10) .2
.DMYNRIN OONNN k 110N RHNY MNPRN DONNN DI DY 001ann RLE 091 ninm  k 190m

2amnY RLE 5n 9% 989 19mn0Y) 9900 09101n 0929398 K 099105 02on»nn 1NNy 25 mry
0975 Yapnnw RLE -n o9t 89 ,(VYps

$PNINT

>>> w = RLE_encode (iter([ 'a','a','a','a','b','b','a','db','d']))
>>> display stream head (remove_stream elem (w, 5), 3)
('b', 1) (ra', 1) ('b', 2)

:(RLE Stream) w 07t nX VOP5 NYapN remove _stream elem P¥PNN IO
.[a 2a a abbabb]:onnnxwmn,[(a 4) (b 2) (a 1) (b 2)]
OTTPN N ,[b a b b] DYapn 1Yy ,0MWUNI DIDRND 5 IR D0¥PDN N DN

OO INNINN DX 9P 75 ,RLE Mpa

def remove stream elem (rle_ strm, k)
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IN) NDIPY DONTIN NN NNV NN UKD 0NN DY 8392 ne» X0 RLE o (mmipy 10) .
(NYTHANY DY) NI MK DNIN PHND DI NN ,(NYI2 DMNX MOYD

N2 N2 RLE 091 o»»a ny»n RLE ow nvnnn inter_to_bin mspnon 03295
YINIAN NYMIY DXVIIN NN T INK M2 NPIND N0 NP 032 (tuple) v 55 May : X1 1oINa

AXIN TINR DY OINDIAN NXMIY DOVIAN NN I INK TN ,(DXV 7-2 19w aSCii N TIVN 99) NN SV
: 0NN 31-5 520N OOPNN 9NN TR

def inter to_bin (1lst , max length = 2**5 -1):
""" converts intermediate format compressed RLE steam
to a stream of bits """
width = math.ceil (math.log( max length ,2))
for run in 1lst
for bit in '{:07b}'.format (ord(run_val(run) )):
yield bit
for bit in '{num:0{w}b}'.format (num=run_len(run), w=width):
yield bit

>>> RLE_inter encode = RLE encode (iter ("Gooooo!!!!!111"))
>>> RLE bin encode = inter to_bin(RLE_ inter_ encode)
>>> "" . join(bit for bit in RLE bin encode)

:ASCII 1530 NaMINN DOIMNNY

ASCII Code Chart

0 1 2 3 4 5 6 7 8 9 A B C D E F
O|NUL | SOH |STX |ETX |EOT | ENQ | ACK |BEL | BS | HT | LF | VT | FF | CR | SO | SI
1|DLE |DC1 |DC2 [DC3 |DC4 |[NAK | SYN |ETB |CAN | EM |SUB |ESC| FS | GS | RS | US
2 vl s s &l ]l x]+]]- /
3le| 123|456 7]|8]9]|:]:]|<]|]=]>]?¢2
4l @l A|B|C|D|E|F|G|H|I|JI|K|L|MW|[N]O
5| P 0 R S T U v W X Y z [ \ 1 ~ =
6| - a|b|c d|le| f|]9]|h ]| i jlk|1v]lm|[n]o
7flpla|lr]|s|t]lu|lv]|w]|x]|Yy]|z { | } | ~ |DEL
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TP 1”Gooooo! 1111117 Ryinnn NOXNTA INY MV MXXIN DY YR NN (MTPI 5) .7

MNSY  NDINHDD NI PN MY DIvMPN IWRD parn np W RLE
.M2APNN KD PN NXOO MWD (DOVIVN 2-3) NINPAIPNI)

DONN 31-D) YOMOPNN ANIN TIN DX DY TNY 7PN YITH NI XY PRNP INONORYD (M) 5) .0
IUN DXVYAN 90N NINYA OAXINN TAN DI DY TNIRD DX TTIPY WNN NID (NN T 930 N
IONONINY DV INYNNA 7PYIAN 1D 1900 NN NN DOWIT
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(MTPy 15) 3 DNV

PIND W 0NN TR DI NIAY . TIPN YOPY DXON»NNN DXVIVWN NN PINKY L(IDLE -13) Xan 1pn yop pm
JPID TN W IPY NIN LAYNNY DNIMN DN .IPY IN NNINX NI DN

>>> x = 1/2
>>> X

70,57 TONY DT MMYN 2 NP INNY N

IPY N\ NN

LN TIVN DY 2P NON L, PON WIAND X-YW OTNINRD TIVN DX NIXMND NPX Y NIPNIA ToNY NoaTHn .2
MM I7XY HNY TUN

TPY\ NN

Fraction Ny x mnwnn Sy 01Idvn )

MY\ NN

199V NPNY TN NN,V 64 N2 Windows 7 Dy Python 3 2 nbyndbw Mipn nX oo m ox - .7

IEEE-754 v1n792 n»2>0 64 Dv 017pn 119712 N8Py ,x Hv

TPYW\ NN

True NN int(x)==0 .N

TPY\ NN
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(M7 10) 4 NINVY

hash ) 272 NPXPNS HY DXODIANN OMNINI 2D NYMA NNNPNN 7N MYIND” PINN NN
: DNYY DININKD DIMMAN 2 DY DONYT NN .TIT M9 (functions

def hashl (element)

return id(element)

def hash2? (element)

return 42

119210 hash n»ypNa X0 hash1 NP¥pPNaN OXN
.1199115 TIAYN NY 12V NIAPNY XHONT NN (DX0OWN 3 TY) NINPA 1IN ,ND ON

PDID TN PR )0 DY DN

15920 hash n»X¥pNs NN hash2 M¥PNAN ONN
.N99710 TIAYN XD 1AW NIPNY ROIIT NN (DX0IWN 3 TY) NINPAIPIDN ,ND DN

.PNIZ TN PR L)D ONNY DN
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(MTP) 10) 5 NNV

:single_black pixel NIV NODINI (MX¥INI IWNIY TIPN Y DOIANN) KIN TIPN YOP 1IN

from PIL import Image

def neighbours(pix, width, height, x, vy, nx=1, ny=1):
nlst = []
for yy in range(max(y-ny, 0), min(y+ny+1l, height)):
for xx in range (max (x-nx, 0), min(x+nx+1, width)):
nlst.append(pix[xx, vyvy])

return nlst

def morphological (im, operator = min, nx = 5, ny = 5):
width, height = im.size
out im = Image.new('L', (width, height), 'white')
in pix = im.load()

out pix = out im.load()

for y in range (height) :
for x in range (width) :
nlst = neighbours(in pix, width, height, x, vy, nx, ny)
out pix[x, y] = operator(nlst)
return out im

def erosion(im, nx = 5, ny = 5):
return morphological (im, min, nx, ny)

def single black pixel():
out im = Image.new('L', (256, 256), 'white')
out pix = out im.load()
out pix[127, 127] =0
return out im

TON2 ANINY T (177) NORWN MDD DIPN DIV ¥ INIRY YINDININ TIVN NN ,XIN TIPH YOP2
PVIVNY NINY NNNN

>>> pic = single black pixel()

>>> for 1 in range (???): # what should be written here?
pic = erosion(pic)

>>> pic.show ()

1 N
26 2
32 )
128 .7

NINY T D30 PVIND NPNY MPIN KD TOND ININY INNNN

3



